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: 
: 

(i) 34 

(ii) 
(iii) 
(iv) 3 50 75 
(v) 4 150 
(vi) 6 200 
(vii)   

1 20 (MCQ) 1  20×1=20 

1. nX àñVmd  Ho$ níMmV² M`Z à{H«$`m H$m AJbm MaU h¡ :  
(a)   (b) M`Z {ZU©`   
(c) amoµOJma gmjmËH$ma  (d) amoµOJma g_Pm¡Vm   

2. {Z`moOZ _|, gm_mÝ`V: à~§YH$mo§ H$mo nyd©-{ZYm©[aV `moOZmAm| H$m AZwgaU H$aZm hmoVm h¡ VWm 
do Bg_| n[adV©Z H$aZo H$s pñW{V _| Zht hmoVo h¢ & Bg H$WZ go {Z`moOZ H$s {ZåZ{b{IV 
gr_m àH$m{eV hmoVr h¡ :   
(a) {Z`moOZ J{Verb n`m©daU _| H$m_ Zht H$aVm    
(b) {Z`moOZ g\$bVm H$m AmídmgZ Zht XoVm    
(c)   
(d) {Z`moOZ g_` ZîQ> H$aVm h¡    

3. ZrMo {XE JE {MÌ Ûmam ^Vu Ho$ {Og ~mø òmoV H$s ì`m»`m H$s JB© h¡, CgH$s nhMmZ H$s{OE &   

  
(a) H$_©Mm[a`m| Ûmam AZwe§gm  (b) Om°~a Ed§ R>oHo$Xma 
(c) _hm{dÚmb`/{díd{dÚmb` go ^Vu  (d) amoµOJma H$m`m©b` 
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General Instructions :   
Read the following instructions very carefully and strictly follow them : 
(i) This question paper contains 34 questions. All questions are compulsory.   
(ii) Marks are indicated against each question.  
(iii) Answers should be brief and to the point.  
(iv) Answers to questions carrying 3 marks may be from 50 to 75 words.  
(v) Answers to questions carrying 4 marks may be in about 150 words.  
(vi) Answers to questions carrying 6 marks may be in about 200 words. 
(vii) Attempt all parts of a question together.  

Questions 1 to 20 are Multiple Choice Questions (MCQs), carrying 1 mark  
each.    20 1=20 
1.   

(a) Medical examination  (b) Selection decision  
(c) Employment interview  (d) Contract of employment  

2. In planning, generally managers have to follow pre-determined plans and 
they are not in a position to change it. This statement highlights the 
following limitation of planning :   
(a) Planning may not work in a dynamic environment  
(b) Planning does not guarantee success  
(c) Planning leads to rigidity  
(d) Planning is time-consuming  

3. Identify the external source of recruitment illustrated by the picture 
given below :  

  
(a) Recommendation of Employees  (b) Labour Contractors  
(c) Campus Recruitment  (d) Employment Exchange  
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4. {Xdmbr 15 ZmoES>m H$s Amdmg H$ë`mU g§ñWm (Ama.S>ãë ỳ.E.) Zo 
{Xdmbr _obm Am`mo{OV H$aZo H$m {ZU©̀  {b`m & CÝhm|Zo Am`mo{OV H$s OmZo dmbr g^r 
J{V{d{Y`m| H$s gyMr ~ZmB©, àH¥${V Ho$ AZwgma CZH$mo dJuH¥$V {H$`m VWm J{V{d{Y`m|/H$V©ì`m| 
H$mo g§ñWm Ho$ {d{^Þ bmoJm| H$mo gm¢n {X`m & _obm g_mßV hmoZo Ho$ níMmV² XoIm J`m {H$ `h 
g\$b Zht hþAm & BgHo$ H$maUm| H$m {díbofU H$aZo na Ama.S>ãë ỳ.E. Ho$ AÜ`j H$mo nVm 
Mbm {H$ g§JR>Z _| Ho$db H$m ©̀ H$mo gm¢nZm hr n`m©ßV Zht Wm & CgZo XoIm {H$ g§JR>Z 
à{H«$`m H$m EH$ _hÎdnyU© MaU AZwnpñWV Wm & {ZåZ{b{IV _| go Cg MaU H$s nhMmZ 
H$s{OE :  
(a) H$V©ì`m| H$m {ZYm©aU  
(b) A{YH$ma Ed§ d¥Vm§V ([anmo{Q>ªJ) g§~§Y ñWmnZ 
(c) H$m ©̀ H$s nhMmZ VWm {d^mOZ  
(d) {d^mJrH$aU 

5. à~§Y AÀN>o JwUm| dmbo CËnmXm| VWm godmAm| H$mo àXmZ H$aZo _| ghm`Vm àXmZ H$aVm h¡, 
amoµOJma Ho$ Adgam| H$m g¥OZ H$aVm h¡, bmoJm| Ho$ ^bo Ho$ {bE ZB© àm¡Úmo{JH$s AnZmVm h¡ 
VWm d¥{Õ Ed§ {dH$mg Ho$ _mJ© H$s Amoa bo OmVm h¡ &  

 `h à~§Y Ho$ _hÎd Ho$ {ZåZ{b{IV {~ÝXþ na àH$me S>mbVm h¡ : 
(a) à~§Y g_yh bú`m| H$mo àmßV H$aZo _| ghm`Vm H$aVm h¡ &   
(b) à~§Y EH$ J{Verb g§JR>Z H$m g¥OZ H$aVm h¡ &   
(c) à~§Y g_mO Ho$ {dH$mg _| ghm`Vm H$aVm h¡ &   
(d) à~§Y ì`{º$JV bú`m| H$s àm{ßV _| ghm`Vm H$aVm h¡ &   

6. {hVof VWm arZm CÚ_r h¢ & CÝhm|Zo Ü`mZ {X`m {H$ àË òH$ df© ^maV H$s amOYmZr {Xëbr _| 
w H$s Iam~ JwUdÎmm VWm àXÿfU ñVa 

OmVr h¡ & CÝhmo|Zo `h ^r XoIm {H$ AmOH$b bmoJ OrdZ H$s JwUdÎmm Ho$ {df` _| A{YH$ 
{MÝVm H$aVo h¢ & Bg Amdí`H$Vm H$m AZŵ d H$aVo hþE, CÝhm|Zo EH$ Z`m àXÿfU-{damoYr  
W-98 _mñH$  ~mµOma _| CVmam & `h Z Ho$db 

\
à{V`moJr Zht Wm &  

 {ZåZ{b{IV _| go Cn ẁ©º$ _| àH$m{eV ì`mdgm{`H$ n`m©daU Ho$ _hÎd H$s nhMmZ H$s{OE : 
(a) ì`mdgm{`H$ n`m©daU IVam| H$s nhMmZ Ed§ g_` go nhbo MoVmdZr _| ghm`H$ h¡ &   
(b) ì`mdgm{`H$ n`m©daU Cn`moJr g§gmYZm| Ho$ XmohZ _| ghm`H$ h¡ &   
(c) ì`mdgm{`H$ n`m©daU {ZînmXZ gwYma _| ghm`H$ h¡ &   
(d) ì`mdgm{`H$ n`m©daU g§^mdZmAm|/Adgam| H$s nhMmZ H$aZo Ed§ nhb H$aZo Ho$ {bE 

\$_© H$mo `mo½` ~ZmVm h¡ &  
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4. Resident Welfare Association (RWA) of Noida, Sector 15 decided to 
organise Diwali mela on the eve of Diwali. They listed all the activities to 
be done, grouped them as per their nature and assigned the 
activities/duties to different people of their association. After completion 
of the mela they found that it was not a success. While analysing the 
reasons the President of RWA found that mere allocation of work was not 
enough in the organisation. He found that an important step in the 
organising process was missing. Identify the step from the following :  
(a) Assignment of duties  
(b) Establishing authority and reporting relationships 
(c) Identification and division of work  
(d) Departmentalisation  

5. Management helps in providing good quality products and services, 
creating employment opportunities, adopting new technology for the 
greater good of the people and leads the path towards growth and 
development.  

 This highlights the following point of importance of management :  
(a) Management helps in achieving group goals.  
(b) Management creates a dynamic organisation.  
(c) Management helps in the development of society.  
(d) Management helps in achieving personal objectives.  

6. Hitesh and Reena are entrepreneurs. They noticed that every year in the 
months of November and December, Delhi, the capital city of India, 
witnesses poor air quality and rise in pollution levels. They also observed 
that nowadays people are more concerned about quality of life. Sensing 
the need, they were the first to bring into the market a new  

-Pollution W-
pollution but also in increasing the life expectancy of people. Their 
venture saw a massive success as there was no competitor.  

 From the following, identify the importance of Business Environment 
highlighted above :  
(a) Business Environment helps the firm to identify threats and early 

warning signals.  
(b) Business Environment helps in tapping useful resources.  
(c) Business Environment helps in improving performance.  
(d) Business Environment enables the firm to identify the 

opportunities and in getting the first mover advantage.  
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7. ZraO Q>çy{bn npãbH$ ñHy$b  H$m {ZXoeH$ h¡ {Og_| 2000 {dÚmWu h¢ & {dÚmb` _| Xmo 
_w»`-AÜ`mnH$ h¢  EH$ d[aîR> H$jmAm| Ho$ {bE VWm Xÿgam H${ZîR> H$jmAm| Ho$ {bE & 
d[aîR> _w»`-AÜ`mnH$ Ho$ n ©̀dojU _| 50 AÜ`mnH$ h¢ VWm H${ZîR> _w»`-AÜ`mnH$ Ho$ 
n ©̀dojU _| 60 AÜ`mnH$ h¢ & d[aîR> _w»`-AÜ`mnH$ Ho$ n ©̀dojU _| H$m`© H$aZo dmbm H$moB© 
^r AÜ`mnH$ Iwe Ed§ g§VwîQ> Zht h¡ {Oggo d[aîR> H$jmAm| H$m narjm n[aUm_ à^m{dV 
hmoVm h¡ & Xÿgar Va\$ H${ZîR> _w»`-AÜ`mnH$ Ho$ n ©̀dojU _| H$m ©̀ H$aZo dmbo AÜ`mnH$ 
AnZo H$V©ì`m| H$m {ZînmXZ ñdoÀN>mnyd©H$ H$aVo h¢ VWm AnZo CÔoí`m| H$mo àmßV H$aVo h¢ & g^r 
AÜ`mnH$ àgÞ VWm g§VwîQ> h¢ & {ZXoeH$, ZraO Zo AZŵ d {H$`m {H$ {H$VZr AÀN>r Vah go 
H${ZîR> _w»`-AÜ`mnH$ AnZr H$jmAm| H$m à~§YZ H$a ahm Wm & 

 Cn ẁ©º$ _| M{M©V à~§Y H$s {deofVm h¡ :  

(a) à~§Y EH$ CÔoí`nyU© à{H«$`m h¡   

(b) à~§Y EH$ J{Verb H$m ©̀ h¡   

(c) à~§Y EH$ A_yV© e{º$ h¡   

(d) à~§Y EH$ {ZaÝVa MbZo dmbr à{H«$`m h¡  

8. ßbmpñQ>H$ Ho$ ~V©Zm| H$m Cn`moJ ì`dgm` AWdm ì`{º$JV Cn`moJ Ho$ {bE A{YH$Va H$_ 
bmJV VWm gw{dYmOZH$ {dH$ën Ho$ ê$n _| {H$`m OmVm h¡ & ò ~V©Z H$_ dOZr VWm 
n[adhZ Ho$ {bE gab hmoVo h¢ Ed§ BÝh| gm\$ H$aZo d nwZ: Cn`moJ Ho$ ~Om` AmgmZr go IË_ 
{H$`m Om gH$Vm h¡ & bo{H$Z ñdmñÏ` Ho$ Ñ{îQ>H$moU go ßbmpñQ>H$ Ho$ ~V©Z hm{ZH$maH$ h¢ VWm 
{d{^Þ n`m©daUr` _wÔo (g_ñ`mE±) CËnÞ H$aVo h¢ & AmOH$b ñdmñÏ` VWm V§XþéñVr àd¥{Îm 
bmoH${à` hmo ahr h¡ & bmoJ {d{^Þ {dH$ënm| H$mo ImoO aho h¢ VWm H$mJO Ho$ ~Zo, ñQ>rb VWm 
½bmg Ho$ ~Zo ~V©Zm| H$mo AnZm aho h¢ {Oggo BZ CËnmXm| H$s _m±J AË  

 Cn ẁ©º$ AZwÀN>oX _| ì`mdgm{`H$ n`m©daU Ho$ EH$ _hÎdnyU© Am`m_ H$s MMm© H$s JB© h¡, Omo 
h¡ :   

(a) Am{W©H$ n`m©daU  

(b) gm_m{OH$ n`m©daU  

(c) àm¡Úmo{JH$s` n`m©daU  

(d) amOZr{VH$ n`m©daU  
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7. 
There are two Headmasters  one for Senior classes and another for 
Junior classes. 50 teachers are under the supervision of the Senior  
Headmaster and 60 teachers under the supervision of the Junior  
Headmaster. No teacher working under the supervision of the Senior  
Headmaster is happy and satisfied, which is affecting the result of the 
Senior classes. On the other hand the teachers working under the 
supervision of the Junior Headmaster are performing their duties 
willingly and achieving their objectives. All the teachers are happy and 
satisfied. The Director, Neeraj can feel how nicely the Junior Headmaster 
was managing his classes.  

 The characteristic of management discussed above is :  

(a) Management is a goal-oriented process 

(b) Management is a dynamic function  

(c) Management is an intangible force  

(d) Management is a continuous process  

 

8. Plastic utensils are often used as a low cost, convenient option for 
business or personal use. These utensils are lightweight, easy to 
transport and can be disposed off easily instead of cleaned and reused. 
But plastic utensils are harmful from health point of view and create 
various environmental issues. Nowadays health and fitness trend is 
becoming popular. People are looking for different alternatives and have 
started opting for paper-made, steel or glass utensils which has 
tremendously increased the demand of these products.  

 The above para discusses an important dimension of Business 
Environment which is :   

(a) Economic Environment  

(b) Social Environment  

(c) Technological Environment 

(d) Political Environment 
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9. {ZåZ{b{IV _| go H$m¡Z-gm à~§Y H$m H$m ©̀ bú`m| H$s àJ{V H$m _mnZ H$aVm h¡ VWm g§JR>Z 

H$mo ghr _mJ© na àeñV H$aVm h¡ Vm{H$ g§JR>ZmË_H$ bú`m| H$mo àmßV {H$`m Om gHo$ ?  

(a) {Z`moOZ  (b) {Z ẁ{º$H$aU 

(c) {ZX}eZ  (d) {Z §̀ÌU   

10. E.EZ. ñQ>oeZar {b{_Q>oS>  ñQ>oeZar H$s {d{^Þ dñVwAm| O¡go n| -noZ, ~mb-

noZ, Am{X Ho$ {Z_m©Vm h¢ & CËnmXH$ à~§YH$, KZí`m_ CËnmXZ H$s Hw$ebVm Ho$ {df` _| 
~hþV é{M aIVm h¡ {OgH$m _mnZ dh CËnm{XV BH$mB`m| VWm EH$ ~¡M _| XmofnyU© BH$mB`m| 

H$s JUZm H$aHo$ H$aVm h¡ & Eogm H$aHo$ dh à~§Y Ho$ EH$ _hÎdnyU© H$m ©̀ H$m {ZînmXZ H$a 

ahm h¡, Omo h¡ :     

(a) {ZX}eZ  (b) {Z §̀ÌU 

(c) g§JR>Z  (d) {Z`moOZ 

11. à{ejU H$s dh {d{Y {Og_| H$jm _| dmñV{dH$ H$m ©̀ n`m©daU H$m g¥OZ {H$`m OmVm h¡ VWm 

H$_©Mmar CÝht gm_{J«`m|, \$mBbm| VWm CnH$aUm| H$m Cn`moJ H$aVo h¢ {OZH$s Amdí`H$Vm CÝh| 

AnZo X¡{ZH$ H$m`m] _| Cn`moJ Ho$ {bE hmoVr h¡, `h h¡ :     

(a) àH$moîR> à{ejU (b) ñWmZ~Õ à{ejU 

(c) n[aM` à{ejU (d) à{ejUmWu à{ejU 

12.  I : {H$gr ^r {d{Z_` Ho$ {bE H$_-go-H$_ Xmo njm| H$m hmoZm Amdí`H$ h¡  H«o$Vm 

VWm {dH«o$Vm &  

  II : {d{Z_` H«o$Vm VWm {dH«o$Vm H$m EH$-Xÿgao go g§àofU Z hmoZo na ^r hmo gH$Vm  

h¡ &  

{ZåZ{b{IV _| go ghr {dH$ën H$m M`Z H$s{OE :   

(a) XmoZm| H$WZ I VWm H$WZ II ghr h¢ & 

(b) XmoZm| H$WZ I VWm H$WZ II JbV h¢ & 

(c) H$WZ I ghr VWm H$WZ II JbV h¡ & 

(d) H$WZ I JbV VWm H$WZ II ghr h¡ &  
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9. Which of the following function of management measures the progress of 
objectives and guides the organisation to keep it on the right track so 
that organisational goals might be achieved ? 

(a) Planning  (b) Staffing  

(c) Directing  (d) Controlling  

10.  like 
pencils, erasers, gel-pens, ball-pens, etc. The Production Manager, 
Ghanshyam is very particular about the efficiency of production, which 
he measures by counting the number of pieces produced and number of 
defective pieces in a batch. By doing this he is performing an important 
function of management which is : 

(a) Directing   (b) Controlling  

(c) Organising   (d) Planning  

11. The method of training in which actual work environment is created in a 
classroom and employees use the same materials, files and equipment 
that are required to be used by them in their day-to-day working is : 

(a) Vestibule Training  (b) Internship Training 

(c) Induction Training (d) Apprenticeship Training 

12. Statement I :  For any exchange to take place it is important that there 
must be at least two parties  a buyer and a seller.  

 Statement II :  Exchange can take place even if the buyers and sellers are 
not able to communicate with each other.  

 Choose the correct option from the following :  

(a) Both Statement I and Statement II are correct. 

(b) Both Statement I and Statement II are incorrect. 

(c) Statement I is correct and Statement II is incorrect.  

(d) Statement I is incorrect and Statement II is correct.  
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13. ñV§^ I _| {XE JE {d{^Þ {dnUZ Xe©Zm| H$m ñV§^ II _| {XE JE CZHo$ ghr AW© Ho$ gmW 
{_bmZ H$s{OE &   

 I  II

P. CËnmX AdYmaUm  (i) `h AmH«$m_H$ {dH«$` VH$ZrH$m| H$m Cn`moJ H$aHo$ 
na ~b XoVr 

h¡   
Q. CËnmXZ AdYmaUm  (ii) `h JwUdÎmmnyU© {ZînmXZ VWm CËnmX H$s {deofVmAm| 

na ~b XoH$a CËnmX gwYma Ho$ _mÜ`_ go A{YH$V_ 
bm^ AO©Z na ~b XoVr h¡   

R. {dH«$` AdYmaUm  (iii)  `h CËnmXZ H$s _mÌm VWm Bggo CËnmXZ bmJV _| 
H$_r H$aHo$ A{YH$V_ bm^ AO©Z na ~b XoVr h¡   

S. {dnUZ AdYmaUm  (iv) `h J«mhH$ g§Vw{îQ> Ho$ _mÜ`_ go A{YH$V_ bm^ AO©Z 
na ~b XoVr h¡, AWm©V² dV©_mZ VWm g§^m{dV H«o$VmAm| 
H$s Amdí`H$VmAm| H$mo nhMmZH$a à^mdnyU© T>§J go 
CZH$s g§Vw{îQ> H$aZm  

(a) P (ii),  Q (iii),  R (i),  S (iv) 

(b) P (i),  Q (ii),  R (iv),  S (iii)  

(c) P (iii),  Q (i),  R (ii),  S (iv) 

(d) P (iv),  Q (iii),  R (i),  S (ii) 

14. eò a ~mµOma H$m dh H$m`© Omo à{V ŷ{V`m| Ho$ H«$` VWm {dH«$` Ho$ {bE EH$ gVV ~mµOma g¥OZ 
_| ghm`Vm H$aVm h¡, h¡ :  

(a) boZXoZm| H$s gwajm   

(b) à{V^y{V`m| H$m _yë`-{ZYm©aU   

(c) dV©_mZ à{V ŷ{V`m| H$mo VabVm VWm {dnUZ `mo½`Vm àXmZ H$aZm   

(d) Am{W©H$ {dH$mg _| `moJXmZ   

15. {dn , Am{X gpå_{bV h¢ 
VWm BZ CÔoí`m| H$s àm{ßV hoVw {H«$`mË_H$ H$m`©H«$_m| H$mo {Z{X©îQ> H$aVm h¡, h¡ : 

(a) ~mµOma gyMZm H$m EH$ÌrH$aU VWm {díbofU   

(b) {dnUZ {Z`moOZ   

(c) CËnmX ê$nm§H$Z VWm {dH$mg   

(d) CËnmX H$m _yë`-{ZYm©aU   
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13. Match the following marketing philosophies given in Column I with their 
respective meaning given in Column II.  

 Column I  Column II 
P. The Product concept (i) It emphasises on increasing the profit 

through increased sales volumes by 
adopting aggressive selling techniques 

Q. The Production 
concept 

(ii) It emphasises on quality performance 
and features of product and thus profit 
maximisation through product 
improvement 

R. The Selling concept (iii) It emphasises on profit maximisation 
through volume of production, thereby 
reducing the cost of production 

S. The Marketing 
concept 

(iv) It emphasises on profit maximisation 
through customer satisfaction, i.e. 
identifying the needs of its present and 
prospective buyers and satisfying them 
in an effective manner 

(a) P (ii),  Q (iii),  R  (i), S (iv) 

(b) P (i),  Q (ii),  R (iv), S (iii) 

(c) P (iii),  Q (i),  R (ii), S (iv) 

(d) P (iv),  Q (iii),  R (i), S (ii) 

14. The function of Stock Exchange which helps in creating a continuous 
market where securities are bought and sold is : 

(a) Safety of transactions  

(b) Pricing of securities  

(c) Providing liquidity and marketability to existing securities  

(d) Contribution to economic growth  

15. The marketing function which includes plan for increasing the level of 
production, promotion of the products, etc. and specifies the action 
programmes to achieve these objectives is :  

(a) Gathering and analysing market information 

(b) Marketing planning  

(c) Product designing and development  

(d) Pricing of the product  
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16. {ZåZ{b{IV _| go H$m¡Z-gm H$WZ   h¡ ?  

(a) ^maVr` à{V ŷ{V Ed§ {d{Z_` ~moS>© Ho$ gwajmË_H$ H$m`m] _| A{Y{Z`_ Ho$ CÔoí`m| H$mo 
bmJy H$aZo Ho$ {bE \$sg VWm AÝ` à^ma bJmZm gpå_{bV h¡ &   

(b) ^maVr` à{V ŷ{V Ed§ {d{Z_` ~moS>© Ho$ {dH$mgnyU© H$m`m] _| à{V ŷ{V ~mµOma Ho$ 
_Ü`ñWm| H$m à{ejU gpå_{bV h¡ &  

(c) ^maVr` à{V ŷ{V Ed§ {d{Z_` ~moS>© Ho$ {Z`m_H$ H$m`m] _| gm_y{hH$ {Zdoe `moOZmAmo§ 
VWm å ẁMwdb H$mofm| H$m n§OrH$aU gpå_{bV h¡ &   

(d) ^maVr` à{V^y{V Ed§ {d{Z_` ~moS>© Ho$ CÔoí`m| _| {ZdoeH$m| Ho$ A{YH$mam| Ed§ {hVm| H$s 
ajm H$aZm, {deof ê$n go d¡`{º$H$ {ZdoeH$ VWm CÝh| {ZX}e XoZm VWm {ejm àXmZ 
H$aZm gpå_{bV h¢ &   

17. G$U H$m Cn`moJ ì`dgm` Ho$ {dÎmr` Omo{I_ _| d¥{Õ H$aVm h¡ &  Cn ẁ©º$ H$WZ _| COmJa 
Cn ẁº$ ny±Or g§aMZm Ho$ M`Z H$mo {ZYm©[aV H$aZo dmbm H$maH$ h¡ : 

(a) G$U godm AmdaU AZwnmV $   (b) Omo{I_ H$m Ü`mZ$   

(c) G$U H$s bmJV (d) bMrbmnZ   

18. EH$ gm_m{OH$ à{H«$`m {OgHo$ AZwgma bmoJm| Ho$ g_yh Amdí`H$Vm VWm _m±J Ho$ AZwgma 
CËnmXm| H$m g¥OZ H$a CZ dñVwAm| H$mo àmßV H$aVo h¢ VWm CZ dñVwAm| Ed§ godmAm| H$m 
ñdV§ÌVm go {d{Z_` H$aVo h¢ {OZH$m H$moB© _yë` h¡ , OmZr OmVr h¡ :  

(a) {dnUZ   (b) {dnUZ {_l  

(c) ~«m§qS>J   (d) n¡Ho$qOJ  

19. {dH«$` g§dY©Z Ho$ {df` _| {ZåZ{b{IV _| go H$m¡Z-gm H$WZ   h¡ ?  

(a) Bg_| Eogo Aënmd{Y àmoËgmhZ gpå_{bV h¢ Omo H«o$VmAm| H$mo CËnmX VWm godmAm| H$mo 
VwaÝV H«$` H$aZo Ho$ {bE àmoËgm{hV H$aVo h¢ &   

(b) 
gpå_{bV h¢ &   

(c) Bg_| Ho$db dh J{V{d{Y`m± gpå_{bV h¢ {OZH$m Cn`moJ EH$ \$_© H$s {~H«$s H$mo 
 h¡ &   

(d) Bg_| do J{V{d{Y`m± gpå_{bV h¢ Omo AÝ` àdV©Z à`mgm| H$s nyaH$ h¢ O¡go {dkmnZ 
VWm ì`{º$JV {dH«$` &   
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16. Which of the following statements is incorrect ? 

(a) The protective functions of the Securities and Exchange Board of 
India include levying fee or other charges for carrying out the 
purposes of the Act.  

(b) The development functions of the Securities and Exchange Board 
of India include training of intermediaries of the securities market.    

(c) The regulatory functions of the Securities and Exchange Board of 
India include registration of collective investment schemes and 
mutual funds.  

(d) The objectives of the Securities and Exchange Board of India 
include protecting the rights and interests of investors, 
particularly individual investors and to guide and educate them.    

17. .  The factor 
determining the choice of an appropriate capital structure of a company 
highlighted in the above statement is :  

(a) Debt Service Coverage Ratio  (b) Risk consideration   

(c) Cost of debt   (d) Flexibility    

18.  A social process by which individual groups obtain what they need and 
want through creating offerings and freely exchanging products and 

 

(a) Marketing  (b) Marketing mix  

(c) Branding  (d) Packaging  

19. Which of the following statements is incorrect about Sales Promotion ?  
(a) It includes short-term incentives which are designed to encourage 

the buyers to make immediate purchase of a product or services. 
(b) It includes all promotional efforts other than advertising, personal 

selling and public relations.  
(c) It includes only those activities that are used to provide long-term 

incentives to boost the sales of a firm.  
(d) It includes the activities which are undertaken to supplement 

other promotional efforts such as advertising and personal selling.  
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20. {ZåZ{b{IV _| go H$m¡Z-gm H$maH$ EH$ H$ånZr Ho$ {dÎmr`Z {ZU©`  H$mo à^m{dV   H$aVm 
h¡ :   

(a) bmJV   

(b) Omo{I_  

(c)   

(d) {dH$mg Ho$ Adga   

21. AnZr E_.~r.E. H$s {S>J«r nyar H$aZo Ho$ níMmV², A_Z Zo EH$ ~hþamîQ́>r` H$ånZr {µO`moì`m 
{b{_Q>oS>  _| H$m ©̀̂ ma J«hU {H$`m & A{YH$ KÊQ>o VWm g§JR>Z Ho$ à{V à{V~ÕVm CgHo$ H$m ©̀ 
H$s _m±J h¡ & dh ì`dgm` H$s g^r J{V{d{Y`m| H$mo EH$sH¥$V VWm g_pÝdV H$aZo VWm g_mO 
na CZHo$ à^md Ho$ {bE CÎmaXm`r h¡ & CgH$m H$m ©̀ O{Q>b VWm VZmdnyU© h¡ &  

(H$) à~§Y Ho$ Cg ñVa H$s nhMmZ H$s{OE {Og na A_Z Zo g§JR>Z _| H$m`©̂ ma J«hU 
{H$`m &  

(I) AZwÀN>oX _| M{M©V H$m`m] Ho$ A{V[aº$ A_Z Ûmam Cgr ñVa na {Zînm{XV {H$E OmZo 
dmbo {H$Ýht Xmo H$m`m] H$m CëboI H$s{OE & 3 

22. òbmo n§n{H$Z  {Xëbr _| pñWV EH$ BQ>¡{b`Z ^moOZmb` h¡, Omo nmñVm, nrµÁµOm, Am{X g{hV 
AnZo VmOm VWm àm_m{UH$ ^moOZ Ho$ {bE OmZm OmVm h¡ & `h {nN>bo 20 dfm] go AnZo 
J«mhH$m| H$mo godm àXmZ H$a ahm h¡ & AnZr godmAm| Ho$ {bE BgZo {d{^Þ nwañH$ma OrVo h¢ 
VWm nhMmZ ~ZmB© h¡ &  

 H$mo{dS>-19 Ho$ Xm¡amZ, Bgo AË`{YH$ hm{Z hþB© & O¡go hr H$mo{dS> H$m à^md H$_ hþAm VWm 
, òbmo n§n{H$Z  Ho$ à~§YZ Zo AnZr godmAm| Ho$ 

{bE Ka-gwnwX©Jr godm H$m ^r {ZU©` 
AnZo H$m_Jmam| Ûmam A{YH$ g_` VH$ H$m ©̀ H$aZo Ho$ {bE gh`moJ H$s Amdí`H$Vm Wr & 

òbmo n§n{H$Z  Zo {~Zm A{V[aº$ ŵJVmZ Ho$ A{V[aº$ g_` H$m_ H$aZo Ho$ {bE AnZo 
H$m_Jmam| Ho$ gmW EH$ AZw~§Y {H$`m Vm{H$ dh hm{Z go ~mha {ZH$b gHo$ & BgHo$ ~Xbo _| 
bú` Ho$ nyam hmoZo na BÝhmo|Zo H$m_Jmam| H$s _µOXÿ  & AnZo dm`Xo Ho$ 
AZwgma H$m_Jmam| Zo A{V[aº$ KÊQ>o H$m ©̀ {H$`m VWm Ho$db VrZ hr _hrZm| _| ^moOZmb` Ho$ 
ì`dgm` _| n[adV©Z hþAm VWm `h nwZ: bm^Xm`H$ hmo J`m & òbmo n§n{H$Z  Zo AnZm dm`Xm 
{Z^m`m VWm Z Ho$db H$m_Jmam| H$s _µOXÿar ~
~moZg ^r {X`m &  

 òbmo n§n{H$Z  Ûmam AnZmE JE à~§Y Ho$ {gÕm§V H$s nhMmZ H$s{OE VWm g_PmBE &$  3 
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20. Which of the following is not 
Company : 

(a) Cost  

(b) Risk  

(c) Cash flow position of a company  

(d) Growth opportunities  

21. After completing his MBA degree, Aman joined a multinational company 

organisation. He is responsible for integrating diverse elements and 
coordinating all the activities of the business and for its impact on 
society. His job is complex and stressful. 

(a) Identify the level of management at which Aman joined the 
organisation.  

(b) State any two functions to be performed by Aman at this level 
other than those discussed in the para.  3 

22. 
fresh and authentic dishes including pasta, pizza, etc. It has been serving 
its customers for the last 20 years. It had been winning various awards 
and recognition for its services.  

 During Covid-19, it suffered huge losses. As the effect of Covid reduced 

ease its 
revenue and profit. For this they needed support of their workers to work 

to put in extra hours without additional payment to revive it out of 
losses. In return, they promised to increase the wages of the workers 
when the mission is accomplished. The workers put in extra hours as 

commitment and not only increased the wages of the workers but also 
gave them bonus as an additional incentive.  

 
  3 
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23. (H$) à~§Y Ho$ {ZX}eZ  H$m ©̀ H$s {H$Ýht Xmo {deofVmAm| H$mo g_PmBE &  3  

 AWdm 

(I) {ZX}eZ Ho$ EH$ VÎd Ho$ ê$n _| A{^àoaUm  H$s {H$Ýht Xmo {deofVmAm| H$mo  

g_PmBE &    3 

24. (H$) {dÎmr` {Z`moOZ Ho$ _hÎd na àH$me S>mbZo dmbo {H$Ýht VrZ {~ÝXþAm| H$m CëboI 

H$s{OE &   3  

 AWdm 

(I) CëboI H$s{OE {H$ {ZåZ{b{IV H$maH$ H¡$go EH$ H$ånZr H$s H$m`©erb ny±Or 

Amdí`H$VmAm| H$mo à^m{dV H$aVo h¢ :   3 

 (i) _m¡g_r H$maH$    

 (ii) CËnmXZ MH«$  

 (iii) àMmbZ Hw$ebVm   

25. (H$) (i)  go gd©loîR> ì`{º$ Ho$ M`Z H$s à{H«$`m H$s 

nhMmZ H$s{OE & nhMmZ H$s JB© à{H«$`m Ho$ àW_ MaU H$m CëboI  

H$s{OE &  

(ii) g^r pñW{V`m| _|, {Og_| A{V {d{eîQ> H$m ©̀ ^r gpå_{bV h¢, Ohm± M`Z 

H$aZm ~hþV gr{_V h¡, Cn ẁ©º$ (i) _| nhMmZ H$s JB© à{H«$`m Xmo _hÎdnyU© 

CÔoí`m| Ho$ {bE H$m ©̀ H$aVr h¡ & BZ CÔoí`m| H$m CëboI H$s{OE &  4 

 AWdm  

 (I) {ZåZ{b{IV H$s nhMmZ H$s{OE VWm g_PmBE :    4 

(i) H$m ©̀-CÝ_wIr H$_©Mmar H$mo 
AÀN>r Vah go H$m ©̀ H$aZo Ho$ `mo½` ~ZmVr h¡ &    

(ii) AmOr{dH$m-CÝ_wIr grIZo VWm {dH$mg H$s à{H«$`m {Oggo H$_©Mmar H$m 

Mhþ±_wIr {dH$mg hmoVm h¡ &   
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23. (a)  3 

 OR 

 (b)  
Directing. 3 

 

24. (a) State any three points that highlight the importance of financial 
planning. 3 

 OR 

 (b) State how the following factors affect the working capital 
requirements of a company : 3  

 (i) Seasonal Factors  

 (ii) Production Cycle  

 (iii) Operating Efficiency  

 

25. (a) (i) Identify the process of choosing the best person from among 

the pool of the prospective candidates. State the first step in 

the process identified.  

  (ii) In all cases, including highly specialised jobs, where the 

choice is very narrow, the process identified in (i) above 

serves two important purposes. State these purposes.    4 

 OR 

 (b) Identify and explain the following :  4 

 (i) The job-oriented process that increases knowledge and skills 
and enables the employee to do the job better.  

 (ii) The career-oriented process of learning and growth that 
enables the overall growth of the employee.  
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26. (H$) ZoV¥Ëd  H$s {H$Ýht Mma {deofVmAm| H$m CëboI H$s{OE &   4  

 AWdm 

(I) ZoV¥Ëd H$s EH$V§Ìr`  VWm bmoH$V§Ìr`  e¡br H$m AW© Xr{OE &    4 

27. amoµOJma Ho$ An`m©ßV Adgam| VWm amoµOJma MmhZo dmbm| H$s AË`{YH$ g§»`m Ho$ H$maU, 
EbZ àmBdoQ> {b{_Q>oS>  Zo AnZo H$_©Mm[a`m| H$mo ^{dî` H$s Am` VWm H$m ©̀ Ho$ {df` _| 
ñWm{`Ëd XoZo H$m {ZU©` {H$`m {Oggo do BZ nhbwAm| na qMVm H$m AZw^d Z H$a| & BgHo$ 
n[aUm_ñdê$n EbZ àmBdoQ> {b{_Q>oS>  Ho$ H$_©Mmar A~ A{YH$ CËgmh go H$m`© H$a aho h¢ &  

 Cn ẁ©º$ n§{º$`m| _| M{M©V àmoËgmhZ H$s nhMmZ H$s{OE VWm Cgr àH$ma Ho$ {H$Ýht VrZ AÝ` 
àmoËgmhZm| H$m CëboI H$s{OE & 4  

28. ny±Or ~mµOma  H$m AW© Xr{OE & {ZåZ{b{IV Ho$ AmYma na ny±Or ~mµOma  VWm _wÐm ~mµOma  
_| AÝV^}X H$s{OE :  4 

(H$) à{V^mJr   

(I) {Zdoe ~OQ> 

(J) Ad{Y   

29. 1999 go {hVof {b{_Q>oS  gr_|Q> CÚmoJ H$s EH$ OmZr-_mZr H$ånZr h¡ & H$ånZr H$s A{YH¥$V 

ny±Or < 100 

_m±J _| d¥{Õ Ho$ H$maU BgHo$ A§em| Ho$ _yë`m| _| {XZ-à{V{XZ d¥{Õ hmo ahr h¡ & 

 A~ H$ånZr H$ma CËnmXZ ì`dgm` _| àdoe H$aZm MmhVr h¡ & BgHo$ {bE Bgo  

< 200 H$s Amdí`H$Vm h¡ & H$ånZr Ho$ {dÎmr` à~§YH$ Zo Bgo OZVm {ZJ©_Z Ho$ 

_mÜ`_ go EH${ÌV H$aZo H$m {ZU©̀  {b`m h¡ &   

(H$) Cg ~mµOma H$s nhMmZ H$s{OE {Og_| H$ånZr H$s dV©_mZ à{V^y{V`m| H$m H$mamo~ma hmo 
ahm h¡ &   

(I) Cg ~mµOma H$m Zm_ Xr{OE {OgHo$ _mÜ`_ go H$ånZr AnZo ZE ì`dgm` Ho$ {bE  
< 200  H$s ny±Or EH${ÌV H$aZm MmhVr h¡ & > 

(J) {H$Ýht Xmo {~ÝXþAm| Ho$ AmYma na Cn ẁ©º$ (H$) VWm (I) _| nhMmZo JE ~mµOmam| Ho$ 
_Ü` AÝV }̂X H$s{OE &  4 
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26. (a)  4 

 OR 

 (b) 
Leadership.  4 

27. Considering the inadequate job opportunities and too many aspirants for 
give its employees certain stability about 

future income and work so that they do not feel worried on these aspects. 

greater zeal.  

 Identify the incentive discussed in the above lines and state three more 
incentives of the same type. 4 

28. 

 4 

(a) Participants 

(b) Investment Outlay   

(c) Duration  

29.  is a well-known company in the cement industry since 1999. 
The company has an authorised capital of < 100 crore and is listed with a 
reputed stock exchange. The value of its shares is increasing day-by-day 
due to increase in the demand for cement.  

 Now the company wants to enter into car manufacturing business. For 
this it requires < 200 crore. The Finance Manager of the company 
decides to raise this capital by a public issue.    

(a) 
being traded.  

(b) Name the market through which the company wants to raise its 
capital of < 200 crore for its new business.  

(c) Distinguish between the markets identified in (a) and (b) above on 
the basis of any two points.  4 
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30. ñ_mQ>© dm°M {b{_Q>oS>  EH  d`ñH$m| Ho$ {bE ñ_mQ>©-
-  

h¡ & BgHo$ {bE BgZo ~mµOma gyMZm EH${ÌV H$s VWm BgH$m {díbofU {H$`m, {dnUZ 
{Z`moOZ {H$`m, CËnmX H$m ê$nm§H$Z VWm {dH$mg {H$`m, _mZH$sH$aU {H$`m VWm gmW hr BZ 
ñ_mQ>©- §qS>J, _yë`-{ZYm©aU, §̂S>maU, n[adhZ VWm {dVaU 
H$m {ZU©` {b`m & Cn ẁ©º$ d{U©V BZ g^r J{V{d{Y`m| Ho$ {ZînmXZ Ho$ níMmV² ^r BgHo$ 

r &  

 H$ånZr Ho$ _w»` H$m ©̀H$mar A{YH$mar Zo {dnUZ à~§YH$ go BgH$m H$maU nVm bJmZo Ho$ {bE 
H$hm & {dnUZ à~§YH$ Zo _m_bo H$s Om±M H$s VWm nVm bJm`m {H$ CgH$s {dnUZ Q>r_ Zo 

Var 
_| ghm`Vm {_b gH$Vr Wr A{nVw ~ma-~ma {dH«$` _| ^r ghm`Vm {_bVr &  

 {dnUZ Ho$ CZ H$m`m] H$mo nhMm{ZE VWm g_PmBE {OZH$m {ZînmXZ {dnUZ Q>r_ Ûmam Zht 
{H$`m J`m &  4 

31. (H$) à~§Y H$s {ZåZ{b{IV {deofVmAm| H$mo g_PmBE :     6 
(i) à~§Y EH$ CÔoí`nyU© à{H«$`m h¡ 
(ii) à~§Y EH$ {ZaÝVa MbZo dmbr à{H«$`m h¡ 
(iii) à~§Y gd©ì`mnr h¡ 

 AWdm 
(I) à~§Y Ho$ {gÕm§Vm| H$s àH¥${V Ho$ ê$n _| {ZåZ{b{IV H$mo g_PmBE :  6  

(i) gd© à ẁº$  
(ii) bmoM (bMrbmnZ) 
(iii) _w»`V: ì`mdhm[aH$ 

32. (H$) à~§Y Ho$ g§JR>Z  H$m ©̀ Ho$ _hÎd Ho$ {ZåZ{b{IV {~ÝXþAm| H$mo g_PmBE :     6 

(i) {d{eîQ>rH$aU Ho$ bm^ 
(ii) H$m ©̀ H$aZo Ho$ gå~ÝYm| H$m ñnîQ>rH$aU 
(iii) n[adV©Zm| H$m AZwHy$bZ 

 AWdm 
(I) A§VaU  Ho$ _hÎd Ho$ {ZåZ{b{IV {~ÝXþAm| H$mo g_PmBE :  6  

(i) à^mdr à~§Y 
(ii) H$_©Mm[a`m| H$m {dH$mg 
(iii) CÎm_ gm_§Oñ` 
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30.  
smart-watches for adults. The company now wants to manufacture 
smart-watches for children also. For this it gathered and analysed 
market information, did marketing planning, product designing and 
development, standardisation and also  decided about the packaging, 
labelling, branding, pricing, warehousing, transportation and distribution 
of these smart-watches. Even after doing all the above stated activities 
the company is not picking up the sales.    

 The Chief Executive Officer of the company asked the Marketing 
Manager to find out the reason. The Marketing Manager investigated the 
matter and found out that his marketing team had not performed the two 
important functions of marketing which may help the company not only 
in boosting the sales but also in getting repeat sales.  

 Identify and explain the functions of marketing which were not 
performed by the marketing team.    4 

31. (a) Explain the following characteristics of management :  6 
 (i) Management is a goal-oriented process  
 (ii) Management is a continuous process 
 (iii) Management is all pervasive  

   OR 
 (b) Explain the following as nature of principles of management :  6 

 (i) Universal applicability  
 (ii) Flexible   
 (iii) Mainly behavioural  

32. (a) 
of management :  6 

 (i) Benefits of specialisation  

 (ii) Clarity in working relationships  

 (iii) Adaptation to change  
   OR 
 (b) Explain the following points  6 

 (i) Effective management  

 (ii) Employee development  

 (iii) Better coordination  
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33. {ZåZ{b{IV pñW{V`m| _| `moOZm Ho$ àH$mam| H$mo nhMm{ZE VWm g_PmBE :   6 

(H$) AZÝVm Q>́¡db VWm Qy>[aµÁ_ àmBdoQ> {b{_Q>oS>  AnZo J«mhH$mo§ H$mo n`©Q>Z VWm gËH$ma 
godmE± àXmZ H$aVr h¡ & AnZo CÔoí`m| H$mo àmßV H$aZo Ho$ {bE H$ånZr Zo ì`mdgm{`H$ 
n`m©daU H$mo Ü`mZ _| aIVo hþE EH$ {dñV¥V `moOZm V¡`ma H$s &   

(I) A{_V _ÞV amO B§S>ñQ>́rµO  H$m _w»` H$m ©̀H$mar A{YH$mar h¡ & CgZo Eogo {dñV¥V 
_mZH$m| H$m {dH$mg {H$`m {OZHo$ AÝVJ©V à~§YH$ H$m ©̀ H$a gH$Vo h¢ & Eogm H$aHo$ 
CgZo ì ỳhaMZm Ho$ {díbofU H$m EH$ AmYma àXmZ {H$`m h¡ {OgH$m CëboI gm_mÝ` 
eVm] _| {H$`m J`m Wm &    

34. H$m{V©H$ ñ_mQ>© Q>obr{dOZm| H$m ì`mnma H$aVm h¡ & CgZo BZ Q>obr{dOZm| H$m H«$` CËnmXH$ 
 go {H$`m h¡ & ò g^r Q>obr{dOZ ^maVr` _mZH$ ã`yamo  Ûmam à_m{UV  

h¢ & Xrnmdbr Ho$ g_`  Zo H$m{V©H$ H$mo Hw$N> XmofnyU© Q>obr{dOZm| H$s 
Amny{V© H$a Xr & H$m{V©H$ H$mo bJ^J g^r J«mhH$m| go Q>obr{dOZm| Ho$ ~mao _| {eH$m`V {_b 
ahr h¡ & 

(H$) {ZåZ{b{IV _| go H$m¡Z d {H$gHo$ {déÕ AnZo A{YH$mam|  H$m à`moJ H$a gH$Vm  
h¡ ?   
(i) H$m{V©H$ 
(ii)  
(iii) Cn^moº$m  

(I) Cn^moº$m g§ajU A{Y{Z`_, 2019 Ho$ àmdYmZm| Ho$ AZwgma Cn^moº$m  H$mo n[a^m{fV 
H$s{OE & 

(J) Cg A{YH$ma  H$m CëboI H$s{OE {OgH$m à`moJ amhV nmZo Ho$ {bE {H$`m Om 
gH$Vm h¡ &  6 
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33. Identify and explain the type of plans in the following cases :  6 

(a) Ananta Travel and Tourism Pvt. Ltd.  is providing tourism and 
hospitality services to its customers. To achieve its objectives the 
company prepares a comprehensive plan taking into consideration 
the business environment.  

(b) Amit is Chief Executive Officer of Mannat Raj Industries . He 
developed the broad parameters within which the managers may 
function. By doing so he tried to provide a base for interpreting 
strategy which was stated in general terms.  

34. Kartik is engaged in trading of Smart Televisions. He purchases these 

r. All the televisions 

, 

Vivek Electronics  supplied some defective television sets to Kartik. 

Kartik is getting complaints about the televisions from almost all the 

customers.     

(a) Who amongst the following can exercise his/her Right  and against 
whom ?  

 (i) Kartik  

 (ii) Vivek Electronics  

 (iii) Consumers  

(b) C  the provisions of the Consumer 
Protection Act, 2019.  

(c)  get relief.  6  

 


